T

=
o'

= =
I o

=
N

13000 GeV pp
L B B

ATLAS
—a4— Pythia 8.308 default

---¥-- Pythia 8.308 tune-AU2
-~ -- Pythia 8.308 tune-AU2lox
--8-- Pythia 8.308 tune-AU2loxx

Z (Drell-Yan)
S B N BN P

Nch (ATLAS UE in Z production)

1/N,, dN, /dsum p_/dn dg [GeV]'
H

o
o)

o
o

0.4

0.2

—— Pythia 8.308 tune-AUZ2m

Rivet 3.1.10, = 2.6M events

Ratio to ATLAS

[EEY

0.5

| :
- |
| 7 - | —
| - | | | P—
= .
— [¢ - . T | | q] —
AN e W, '.'/¥\ u . J%:J.\‘ & T -
< —‘w ST~ b N - Y < Il H |
20 ] \_ L, = LG b <>‘ O 1
\' @\ 9/ WV . I_!_ ,| ]
T ] N U S, & I 5
i | e VI |
. -7 VA . .
- g 4 v 'I¢ 7 l —
SRR -
0, 1 o [
B N LT
A B |
\ 1
- B Y_
\ AR
. SR oy
\
" | " 1 1 1 1 | " 1 1 1 1 " | " 1 1 1 rl | " l’lI

sum pT/dr] dp[GeV]

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


